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6.3 — Proving Trigonometric Identities (Part 1) Practice

Prove each of the following identities.

1
secZx

1. (1 +sinx)(1 —sinx) =

2. cos?x — sin®x = 1 — 2sin®x

3. cos%0 = (1 —sin8)(1 + sinB)

4. (1 —secH)(1+ sech) = —tan?0

1 1

1-sinx 1+sinx

5. 2sec?x =

6. sec?x — csc?x = tan®x — cot?x

7. cos*x — sin*x = 1 — 2sin®x
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1. (1 +sinx)(1 —sinx) =
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2. cos?x — sin®x = 1 — 2sin®x

LHS RHS
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oS X —-sin?x |-25in%x

(1-sin®x) -sin’ ¥
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| — 2sin*y
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3. cos?0 = (1 —sin 8)(1 + sin )

LHS
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cos?e

RHS

(1-sme ) (1 +<ine)
: | 4 SINB -<sine —<in®e
= |-sin%®
> (0s?6

LHS = bHS
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4. (1 —secB)(1 + sec) = —tan’d

LHS RHS
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5. 2sec?x = —
1-sinx
LHS RHS
2sec X . L
|-sinX | +siny
. [l 4sinx K_L_ [0S _!_}
| +sin (] 1SRk l-<inx |1 14sing
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25ec?X.

LHS =S
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6. sec?x — cscx = tan®x — cot?x

LHS RHS

Sec™x -csc’x Aan?y - Cod X
= (dan’x +1) - (14 ot*x)
= Aan® x +1 -1 - (ot "X
= Aan’x - oty

LHS = RHS
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7. cos*x — sin*x = 1 — 2sin’x

LHS RHS

oSty —sinty \-2sin*x
= (008™% - s ) (cos’ +sinx)
~ (Cos™x - sin’x) (1)
= C0<*x -sin®x
= |- sintx -sin?x

> |-2sin?*x

LHS =pug
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= cos?60
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